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Problem 1. Use chip model to solve the following base eight arithmetic problems. Remember 
that (1000)8 is called octand.(rx:o' '1 (/~~ (lo ) s (I )s 

Ji , * II II 
ll ' ' 

(a) (3420)8 + (275)8 ~c.»lnd ocN\e d o <....t- '~ 0 C\.€.. 

(b) (654)s' + (677)s 

c 
(c) (1334)s - (127)s 

0 0 0 

( 3 

0 

0000 
0 

o d· = ( 10~ of'\fl -=- (t ) g 

oc. kY\d-: (looo}8 ocl--re.d d IOO )g oe:tt:. (I O ) car c:n.e. = ( 1 ) ~ 

o oo¢ oooo 

( I 2 0 

(d) (2062)s - (73)s 

ocN-e.cl; {I DO )~ ocl-; liO )g of\ e ~ ln&' 

0 ¢¢f/J -' 00 
0000 

~ooo 
o¢p¢ oo 

7gg~ 
(I 1 6 7 )2 



Problem 2. Use lattice addition algorithm to find the answer to the following arithmetic 

problems. 
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Problem 3. Use chip model to find the answer to the following arithmetic problems. 

(a) 14 x 3 (c) 14 x 20 
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(b) 14 X 10 (d) 14 X 23 
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Problem 4. Use chip model and the step-by-step method in the previous problem, to find 
(14)s x (23)s 
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Problem 5. Use the arra'g model to find the answer to tfie following arithmetic problems 

and display the parallel to the SCA for multiplication. 

(a) 74 x 8 
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Problem 6. Use the lattice algorithm tQ find the an§wer to the following arithmetic problems. 

(a) 24 x 31 
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{b) 43 X 50 

{c) 123 x 32 
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Figure 1: Japanese Multiplication 

Problem 7. 
problems. 

""IJ""'•c..ae method to find the answer to the following multiplication 

(a) 784 x 92 
b) 

(b) 45 X 120 
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(d) What are the advantages and limitations of using the above method for multiplication? _________ _/ . 
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Problem 8. Use the chip model to evaluate (1364)8 + (3)8 • What interpretation of division 
did you use? (measurement or partitive) 4 t..sh:n<'g Pa~~>.JI~ 
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Problem 10. Use the number line and the measurement interpretation to calculate 25 + 6. 

Problem 11. Use measurement division to find 1074 + 3, laying out segments of lengths 
3, 30, and 300 along the number line (you do not have to draw it to scale here). Draw the 
connection between this method and the SCA for long division. 
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Problem 12. Use measurement division to find 9652 + 8, laying out segments of lengths 8 
80, and 800, etc. along the number line (you do not have to draw it to scale here). Draw th 
connection between this method and the SCA for long division. 
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Problem 13. Underestimate (1647)8 - (376)8 by rounding the minuend and the subtrahend 
to multiples of octred. {See p. 19 for the definitions of these terms.) Which number would 
you round up? Which number would you round down? Is your estimate correct to the nearest 

·' octred'? Q. Goal (J\SIJJe/' 
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Problem 17. Use long division to find14985 + 37 . 
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